AIRBEST secs ZPsZHT
Spring Plunger

K5 Series

PNEUMATICS

How To Order(B! SR R75 %)
K E 5 10 - Y - A12
® ®

@ ®

£ (DBuffer Style(ZE =) 3 Vacuum Entry-External Spring Connection(E % A& BRE L)
57 [E [External Spring(5hE#%) | [Ni(FE) Standard(#74)

| | Built—in Spring(H B3% %) Y | Pipe Connector(#&&#k)

Built—in Spring Connection(/ B 3# %% %)

@Exte\ma\;\pr'\/rlgnBuffer Stroke  [NiFE) [ Standard(ik)
GrEREZATE) v Female Thread (/241
Remark: Vacuum Pad Port Connection type 10 R B gefe_r To The
(&% BEEDEETR) 20 E [ 5 | Dmesen
Model22) [Suitable Vacuum Pad Model(ER&ES)|  Built-in Spring Buffer Stroke @ Mounting Connection-male Thread(&# &1 5MELY)
R Type SB6X. SU1.5X. SU2X. SU4X (WEBRZATE) Symbol(iE5) |Mele Threao(shE&k) Indent HEX(AS)
B Type SU10(15). SF15. SB10(12. 15) R. B 6. 10. 25 A8 M8 x 1 12
E Type SU4(6. 8). SB5(8) E. S ) ) A10 M10x 1 14
S Type SU2(3) V type(®) 07. 15. 20 A2 M12x 1 14
Dimensions(mm)(4h 2 R < B(ZK))
M5 s=8
7 ~ M5 s=8 58 M5 5=8
s=14 o] o
e il |
M12x 1 —] E 7 sio gy % a1
; @ s14 i
e N [=nd o oy
1 - i) §§EEE - 4 o X iiég
| < I J
5210 < M8x1 < §
= ] = i
S ~ \
J 2 o3 I
s s
KE5 10 -A12 KI5 06 -A10 KI5 06 —-R-A8 KI5 06 -B-A8
Buffer Stroke Al L Buffer Stroke(Z#1718)| A B L
(EHFTEE) 6 6 15 42
10 18 | 53 10 10 44 75
20 28 | 63 25 25 44 90
M5 =8 M5 5=8 S=7
/ i 2
=7 % . e o 74.:.‘ 2
N ] A ==
S=8 NF ™~ S12 _ N
\ Nl S12
\Y ?‘ o m Fi§§ -
N 2 A
N7 4 [\
= < N X 7/
/ = T : \ i 5
y o] 3 o ] Ay
‘ < |
>> KI5 06 —-E-A8 KI5 06 -S-A8 KI5 15 -V-A10
)4 =
A Buffer Stroke Buffer Stroke Buffer Stroke
NIEE @ne) | A | Bt eeme | A BN eeee | A B C|L
s |1 6 6 | 15 [ 40 6 6 |15 | 38 6 7 [19] 7 [43
KE5 10 —Y_A12 10 10 | 44 | 73 10 10 | 44 | 71 10 15 | 23 | 27 | 75
Buficr Siiale NN 25 25 | 44 | 88 25 25 | 44 | 86 25 20 | 36 7 73
(ZH17712)
10 18 | 64
20 28 | 74

’¢*1'EEE1'E 4.119




Pz H AIRBEST serics
Spring Plunger

K18 Series

(%)
=
'_
<
=
=)
wl
=
o

How To Order(B! SR <75 3%)

K E 18 10 - L - A14
0] @ ©] @
‘ée < @ Buffer Style(ZZ M T,) (2 Buffer Stroke(221147F2)
' ’ E |External Spring(4MB# %) 10 30
| | Built—in Spring(F B #%) 20 50

(3) Vacuum Entry Connection(E= A#%#A3)  @Mounting Connection-Male Thread(R % #£5MEHE)

Nil(F) Standard(¥R/4E) Symbol(iZ 5) | Male Thread(SME4L)| Indent HEX(5h75£S)
L |Lateral Exhaust(flif = M) Al4 M14 x 1 19
Female Thread(R$2£%) A16 M16 x 1 20
4 A18 M18x 1 22

M6 1
7 - :
S=19 -
3
M14x 1
@ N 8
N1
- - -
| ‘ ‘ «
‘ S=15 | |
< o <
‘ =
~ -l o
"y «~ N <t
~NT G1/8
KE18 50 -A16 KE18 30 -L-A14 KE18 20 -V-A16
Buffer Stroke(ZZM$752)| A L Buffer Stroke(Z8HM4772)| A L Buffer Stroke(Z8M4772) A L
10 20 | 77 10 20 | 73 10 20 | 69
20 35 92 20 35 88 20 35 84
30 50 | 107 30 50 | 108 30 50 | 99
50 70 | 127 50 70 | 123 50 70 | 119
G1/8
M6 |
il o | o Gi/8
1] % ©
8=20 o ]
S= ! $=20
20 . E%
M16x 1 M16x 1 @
: - - M16x 1 ;; 2
1
S=14 - L
< 0 G1/8
S=14 = N = <
~ - S=14
e AH 2 - =
G1/8
KI18 20 -A16 KI18 20 -L-A16 KI18 20 -V-A16
Buffer Stroke(Zm17#8)| A B L Buffer Stroke(£&H4758)| A B L Buffer Stroke(£&H14758) A B L
10 10 25 60 10 10 25 58 10 10 25 54
20 20 | 35 | 80 20 20 | 35 | 78 20 20 | 35 | 74
30 30 | 45 | 100 30 30 | 45 | 98 30 30 | 45 | 94
50 50 | 65 | 140 50 50 | 65 | 138 50 50 | 65 | 134

4,120 TEEITE




A'RBEST Series

How To Order(B! 2K R753%)

ZINSZHF
Spring Plunger
K14 Series

14 10 - V - A18
@ ® @
(2Buffer Stroke(Z&H1772)
[ 10.20.30. .50 |

Y 4 K |
4 o
Wﬁ ; @ Buffer Style(Z& )
2 E |External Spring(9ME#%)
@5 = | | Built—in Spring(F B ¥ %)

(3) Vacuum Entry Connection(E% M3EEAR)

(4Mounting Connection-Male Thread(Z3 % ML)

Nil(7E) Standard(#x4)

SymboliZ2) | Male Thread(SME4L) | Indent HEX(Sh755S)

v Female Thread(J4247)

A18 M18 x 1 22

Features(/= 45 =)

« With buffer spring,it can adjust height differences
automatically when transfer the objects with height
differences.

« Various connection thread and different stroke,it is
suitable for standard vacuum pad.Wide applications.

* Touch with the fragile workpiece fiexibly,buffer the
impact to the object.

Dimensions (mm)(4MF R ~T)

* WEMHE, CEAASELANYMGERNTAHETSEER.
s SMERBYNARAMENTE, BEHRERTHRE, NASBE .
s SHMIT MMM, ZANMEPE,

A20 M20x 1.5 24

0
m
_
_
M20x1.5
]
1% L1
<
G1/4+
N

KE14 20 -A18 KE14 20 -V —-A20 Kl14 20 -A18 K14 20 - V -A20
Buffer Stroke(22H14742)| A | L || Buffer Stroke(Z&/H17#8)| A | L || Buffer Stroke(Z&#1742)| A | B | L || Buffer Stroke(ZEM17#8) A | B | L
10 20 | 91 10 20 | 80 10 10 | 25 | 66 10 10 | 25 | 55
20 35 |106 20 35|95 20 20| 35| 86 20 20 | 35| 75
30 50 [121 30 50 |110 30 30 | 45 |106 30 30 | 45|95
50 70 | 141 50 70 [130 50 50 | 65 |146 50 50 | 65 |135

HTETTE 4121

PNEUMATICS




EPZHT AIRBEST seri
Spring Plunger

K38 Series

(%)
=
'_
<
=
=)
wl
=
o

How To Order(B! SRR 75 3%)

K | K 38 10 - A18
® ®

0] @
(@ Buffer Style(ZE# ) 2Rotary Type(El4; 7))
% E |External Spring(shE3%%)| [NIl(FT) Rotating( @ [E1%%)
w | | Built—in Spring(Py B %) K | Non-Rotating(REJE1%%)
(3Buffer Stroke(Z&H1718) Remark: When it is external spring(E) , there is no non-rotating
type.(ShEEEETL A 0] BlHKR)
10 @Mounting Connection-Male Thread(Ze % & £ 5MB4Y)
20 Symbol(iZ5) | Male Thread(5ME&D) | Indent HEX(5h75AS)
30 A18 M18 x 1 22
4 50 A20 M20x 1.5 24

Features(/=m4F &)

= With buffer spring,it can adjust height differences o BWEMME EXEESETAUNYENTANETSEZS,
automatically when transfer the objects with height . SR EESRARNENSE, BARERTHESE. &EEES .
differences.
55T HZMEm, ZhNmEahs,

« Various connection thread and different stroke, it is
suitable for standard vacuum pad.Wide applications. « FiiE# T8 & it .
Touch with the fragile workpiece fiexibly, buffer the
impact to the object.

* Preventing rotate function is alternative.

Dimensions(mm) (M2 R <t Bl(Z K))

0
| 0 G _
N - y L
N A
b \ 4
_ § 3 ;/ S=22
\ 4 V. misx 1NE ]
\ o = .
\ 25 — 2
N A
N < 7
N\ 2
7
\ ¢
\ )
N\ cais NV ] ] o
N\ ~ © N = ©
KE38 20 -A18 KI38 20 -A18 KIK38 20 -A18
Buffer Stroke(£2H47%2) | A | L Buffer Stroke(Z&H{7#8)| A | B | L Buffer Stroke(&M47#8)| A | B | L
10 20 | 90 10 10 | 24 | 65 10 10| 28 | 69
20 35 [105 20 20 | 35 | 86 20 20|39 | 90
30 50 (120 30 30 | 46 |107 30 30 | 50 | 111
50 70 |140 50 50 | 66 |147 50 50 | 70 | 151




AIRBEST seri ZPsZ it
Spring Plunger

K12 Series

How To Order(B! SR K75 3%)

K E 12 10 - L - A18
0] @] ® @
) Buffer Style(Z ) (2Buffer Stroke(2&H1T12)

E |External Spring(9h& 3%)
| | Built—in Spring(A B% %)

10,20,30,50 |

(3) Vacuum Entry Connection(E= 0% 773) @Mounting Connection-Male Thread(% % & ##9MELY)

Nil(FE) Standard(#74) Symbol(it5)| Male Thread(SME£Y) |Indent HEX(5h73%S)
V | Lateral Exhaust( EZ 0EHAT) A18 M18 x 1 22
A20 M20x 1.5 24
A22 M22x 1.5 26

10

40

M20x1. 5 |
i -

o
«

KE12 30 -L-A20 KE12 30 -A20
Buffer Stroke(ZM4752)| A | L Buffer Stroke(ZM47#2)| A | L
10 20 [100 10 20 {100
20 35 [115 20 35 (115
30 50 [130 30 50 {130
50 90 [170 50 90 [170
G1/8 % w % Q
S=22
o
o
M18x1
— -
N
. il
<
S=24
2
G1/2 i 0| S Q
NG1/4
K12 30 -L-A20 Kl12 30 -A18 Kl12 30 -A22
Buffer Stroke(Z#47#)| A | B | L Buffer Stroke(Z#47#8)| A | B | L Buffer Stroke(ZH4712) A | B | L
10 10 | 30 | 80 10 10|30 | 75 10 10 | 30 | 80
20 20| 35|95 20 20 | 35 | 90 20 20 | 35|95
30 30 | 50 [120 30 30 |50 115 30 30 | 50 [120
50 50 | 70 [160 50 50 | 70 [155 50 50 | 70 [160

TECEUTE 4.123

PNEUMATICS




